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> a—2 & 100 270 | 810 18
» b 100 270 | 810 18
SNDh A 100 260 | 780 26
(L Xo 100 260 | 780 26
ZLbA 100 250 | 750 31
o4y k 100 240 | 720 36
7 2 = 100 240 | 720 36
El 100 230 | 690 43
HoiE 100 220 | 660 46
bbb Y| 100 220 | 660 46
) 2 — 100 200 | 600 b4
SR 100 190 | 570 60
XN 90 200 | 870 7
~ 5 90 290 | 870 7
ARG 90 200 | 870 7
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ERE 90 280 | 840 12
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21 <z 3 9 250 | 750 31
21 K 90 240 | 720 36
21 7= 90 240 | 720 36
21 g F 90 240 | 720 36
21 X\ 5 90 210 | 630 51
21 NS 90 200 | 600 54
38 r—1) — 80 270 | 810 18
38 1203 80 270 | 810 18
38 3 % 80 270 | 810 18
38 2 80 260 | 780 06
38 T 80 260 | 780 26
38 7L — k 80 260 | 780 26
38 % 80 250 | 750 31
38 IR 80 250 | 750 31
38 NK g 80 250 | 750 31
38 R A% 80 240 | 720 36
38 7 — 80 220 | 660 46
38 tm3 11| 80 190 | 570 60
38 9 9 S 80 190 | 570 60
38 S 80 180 | 540 66
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54 7% 2 70 230 | 690 43
54 F XX 70 220 | 660 46
54 H4 X< 70 210 | 630 51
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54 Z 3 70 190 | 570 60
54 5 AL 70 180 | 540 66
54 Tht k7| 70 170 | 510 72
54 BF a2 70 150 | 450 83
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65 A 60 240 | 720 36
65 RN 30 60 220 | 660 46
65 WES 60 210 | 630 51
65 . 60 200 | 600 54
65 i 60 200 | 600 54
65 KT HIE 60 180 | 540 66
65 Fo ik 18 60 170 | 510 72
65 nEDEn| 60 170 | 510 72
65 LK 60 160 | 480 80
65 ) — = 60 150 | 450 83
65 25 60 150 | 450 83
76 mmt s 50 200 | 600 54
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76 A. S. 50 180 540 66
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76 TKT 50 160 480 80
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76 ms f 50 110 330 102
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86 WwWr b2 40 170 510 72
86 P11 LOT]| 40 150 450 83
86 f 7= 40 140 420 89
86 s 40 130 390 Q2
86 Dy —=<v| 40 130 390 Q2
93 ERIE 30 200 600 54
93 SNATE A 30 190 570 60
93 20 v 30 150 450 83
93 Fx—1)—] 30 140 420 89
93 E ol 30 130 390 92
93 = 30 130 390 92
93 NF 7 30 120 360 Q7
93 ZLED 30 110 330 102
93 rHx 7 F 30 80 240 109
93 * 78 30 50 150 114
93 77 AX K BB 30 30 90 118
104 kK an i 20 130 390 Q2
104 7T 20 120 360 Q7
104 =< %9 20 90 270 106
104 =02 20 40 120 116
104 HBOXLF| 20 20 60 119
109 TA=S—| 10 120 360 Q7
109 77 7 10 90 270 106
109 SVA SN A 10 40 120 116
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